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apply this to...
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n ﬁ n—1 l 1 n°(n—1) n—2 l .
r2() (nj+ 1) (nj+

n-(n—1)-(n—2)(1)n-3 l 3+
3-2-1

n

n-(n—1)-(n—2).(n—3)(1)n4(1j L

4.3.2.1 n






As n approaches infinity,

(-2) (-2 (2103
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As n approaches infinity,

(-2) (-2 (2103

approximates

1
+...
41

1+1+

1T 1
T+1+—+—+
2! 3l



. N

r
14+ —
n
p o, M0 11 n-(n—=1), \n—2 r ’ n-(n—=1-(n—2), \n-3 r ’ n-(n—=1-(n-2)-(n—=3) , \n-4 r )
R R e L R U
1 1 2 1 2 3
1+1,+(1‘n),2+(1‘n)(“n)r3+(1‘n)(“n)(1‘n),4+,_,
2! 3! 4!
approximates

r r* r’

T+r+—+—+—+--
21 31 4]




N

11 1 2 3
How dO 1+1+—+—+—+--- and  1+r+—+—+_ +... compare?
21" 31 4l 21731 41
11 1 1Y
1+1+—+—+—+--- comes from | 1+—
21" 31 4l n

r r* r r\
4+r+—+—+—+... cOMes from | 1+—
2! 31 4] n



But remember that (1+l) =

n

(1Y rr=0 m2(1Y r(r=1-(r=2) nns(( 1Y r(r=1)-(r=2)-(r=3) ,\naf 1
R O e U P R e U R = VA

n n n

S |

L(L_l) L(L_l)(i_%
which is equivalent to 1+L,2\1 ), 0\ nARN 1

+
n 2! 3! 4!

which is approximately 1+% forlarge n



So, ((Hl) ] , or (1+1)m is an approximation of (1+i)n

n n n



What if we extended

Pascal’s triangle upwardse
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1T .
1-x+x>-x*+x*—x*-.. converges fo - If 0<x<1.
X

L
1—=r
If r=—-x, then you have 1-x+x*—x*+x*—x"*--.

Or from the sum of a geometric series:
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